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QUESTION 1

The following program uses an Intent to open a Web page designated by a Web browser. Which is the correct code that
goes into (1)?

OL: Intent intent = new Intent("[ (1) |", Uri.parse("http://www.cesf.jp/"));
02: startActivity(intent);

A. android.intent.VIEW
B. android.intent.action.VIEW
C. android.intent.View
D. androidJntent.action.View

Correct Answer: B

QUESTION 2

Which of these is the incorrect explanation of the androiddebuggable attribute of the AndroidManifest.xm tag?
A. If not set, it will be handled as "false".

B. It is necessary to set this to "true" in order to use Eclipse\\'s breakpoint function.

C. The android:debuggable setup value can be read by an application.

D. When releasing the application, deleting android:debuggable is recommended.

Correct Answer: B

QUESTION 3

Which of these is the incorrect explanation of the Toast class?

A. Toast is a simple class for display, and cannot be set with a custom XML-defined layout

B. The display duration time of Toast can be chosen from 2 types, LENGTHJ]DNG and LENGTH_SHORT.
C. Toast is a class included in the android widget package.

D. Since Toast automatically closes after display, a dismiss () method is not provided.

Correct Answer: A

QUESTION 4
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Which of these is the correct explanation regarding the following methods?
(1 )android.content.Context.sendBroadcast
(2)android.content.Context.startActivity

A. Both methods are defined by overloading.

B. Both methods throw an exception.

C. Both methods are asynchronous.

D. Both methods are able to broadcast an Intent.

Correct Answer: D

QUESTION 5

Which of these is the incorrect explanation of a status bar Notification?

A. The Notification can display an icon in the Status Bar along with flashing a light.

B. The Notification can display an icon in the Status Bar along with a vibration.
C. The Notification can display an icon in the Status Bar along with a melody.
D. The Notification can display an icon in the Status Bar along with a video.

Correct Answer: D
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